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101.

102.

103.

104.

GENERAL STUDIES

The Portuguese Sailor who reached Calicut in 1498 A.D. was?

a. Do Almeida b. Vasco da Gama

c. Robert Clive d. Albuquerque

1498-b 601 SHolalbCaTmLemw Sl bgh BumiTdhaisdlut wreodl wimr?
a. 19 OELOWDUILT b. eumerb@ssmismiom

C. gmuim’ Henerail d. seoysTs

On behalf of the Justice Party, who won and formed the ministry in 1923
election?

a. T.N. Sivagnanam Pillai ~ b. P. Thiyagaraja Chettiyar

c. T.M. Nair d. M.C. Raja

19239110 oewiB HOLOLUBB CaHTeHedled BalbaLH amiunse Oeump GuBBI o FHevwl
SIMIDSHHEUT  WITT?

a. T.N. Heuepmend Netemerr b, P. Swimasyrey Q& iguimi

c. TM. mmuwir d. M.C. gregr

Note: Answer As per TNPSC Key.

Raja of Panagal formed the Government as per recommendation of
Thiyagaraja Chettiyar

Find the area of the iron sheet required to prepare a cone 24 cm high with base
radious 7 cm

a. 704 cm? b. 702 cm? c. 700 cm? d. 668 cm?

24 Qg5 2wyl SIgLss I 7 GF .0 QBTewIL gnib Hwmidbs ChHemeuwimer
B(BOY SHBLIQ6T LJLIL| SHT6enTsH
a. 704 cm? b. 702 cm? c. 700 cm? d. 668 cm?2

The sum of the series 31 + 33 + ....+ 53 is

a. 729 b. 341 c. 504 d. 604
31+33+....+53 aaip OFHmfer gn{BHev elestent?
a. 729 b. 341 c. 504 d. 604




105.

106.

107.

108.

109.

Which of the following programme aims at the promotion of savings among
rural women?
a. Jawahar Rozgar Yojana  b. Pradhanmantri Mahila Yojana

c. Rashtriya Mahila Kosh ~ d. Mahila Samridhi

LesTeu(hHeueeuBmiel 61 L 1D Sgmolip waefifler Cxillienu oadH@G@allILSBHTH
DIMDSBLIL L GI?

a. meuast GrreasT Guirglet b. tiygrenopbAHf walemm Guimsgest

c. gmedlfu walent Carad d. wdemm Fiofg)

Which of the following policy brings 5 lakh acres under organic farming?
a. Shrama Prasad Mukherji Rurban Mission

b. Pramaparagat Krishi Vikas Yojana

c. Pradhan Mantri Krishi Sichai Yojana

d. PM Fasal Bima Yojana

BD 2 6o 61H0HT6ITNS 5 60U FID ST Hlevmidamen @Suikiend Calemmemieniouiet &
AL CERILRIEN

a. ewimor Lggnd (ST ehTuel L0agest

b. ugbwrurss slad elsred GuimsgeT

c. LgsrenobdHh &flad agdberomul Guimeiert

d. emnb. umged Liiom Guimegeu

Who was the founder of the Thiruchenkodu Ashram?

a. E.V. Ramasamy Naicker b. Rajaji

c. Gandhiji d. C.N. Annadurai
HmFCFmBanh FFwdHensd BmielweuT wimr?

a. F.Qeugmogmdl BTuIsST b. pregre))

C. &MbH d. C.N. sjeamienimgieny

Annamalai University was started in the year

a. 1915 b. 1929 c. 1921 d. 1945
S|6RTEMITIDENED  LIGOBHEMEVEHBIDHID SLTIDLNSSBIIIL L SL6wT(H
a. 1915 b. 1929 c. 1921 d. 1945

At what rate of interest compound interest per annum will Rs.640 amount to
Rs.774.40 in 2 years
a. 8% b. 9% c. 10% d. 11%

OeWIH LB el lguied eTaliadll FHAIHHIHMBEG H.640 DLeiFH BDTeWIH SLewIBHBH6N60
. 774.40 Sy&LD?

a. 8% b. 9% c.10% d.11%




110. A circus tent is cylindrical to a height of 3 m and conical above it. if the base
radius is 52.5 m and slant height of the cone is 53 m, find the area of canvas
required to make the tent

a. 315 zm’ b. 3097.5 zm’® c.2782.5 nm’ d. 29975 zm’®

Q(hH FTHBENV FnLIJoTeIH 3 16 2 WIFLpeTen o (heneTule &I &nlbl] SIMLOHSHTH
GuraliB U AUSHHNGTNHI. DIHT DlIQLILISES HIID 52.5 15, gwnibilesr Fmuywgd 53 15
a16dll60, DIHELMIID DImHHS CHeveuwimen HHHTer Hlewlulesr LFlienud Henrtdd [BHd
a. 315 zm? b. 3097.5 zm’ c.2782.5 zm’ d. 29975 zm®

111. NREGA gives guaranteed employment for

a. 50 days b. 100 days c. 150 days d. 200 days
Gpdlw emys Geuemev aUTUILILSHI LD, Gouemev 2 GHHTaursHid SeMbGD BT Heriler
6T6W 1600116 B

a. 50 [T el b. 100 BT &6 c. 150 BT set  d. 200 B Hei

112.  The concept of Goods and Service Tax (GST) was originated from

a. Canada b. USA c. Britain d. Germany
QumTmeT BBID CFemeu eufl 66l 6IHBTL 1960 CHmasiuig?

a. &euILIT b. ©CwféEs MmeHuw HTH

C. LML Lot d. Ogmpes

113. Humboldt ocean current is otherwise known as

a. Kuroshio current b. Oyashio current

c. Peru current d. Florida current
ambBumevl. BGITL LD @eleuTBrea|d DSWlILGSBSI
a. GCrmeadwm BGym L 1D b. gumradGuir BGym L 1b
c. Quep BGITLLID d. yGenmmflm BGym LD

114. ‘Sea smoke’ is common in

a. Equatorial region b. Desert region

c. Atlantic ocean d. Arctic region
‘BL60 LIe0dH FTHTIEWIOTS STl ILIBeIg)

a. ywsHw Grms LGS b. uremeveuer FBxHaID
C. ol evmemigd Guymy d. eyngs LGS

115. When was the “Industrial finance Corporation of India” established in India?
a. January 1, 1950 b. July 1, 1948

c. June 5, 1951 d. May 1, 1950

‘BhHw OFHTPHed HHSHWHD @bHHwmaled IGuUTISH gBUBHIUILL L SI?
a. gareufl 1, 1950 b. sgremev 1, 1948

C. eyrer 5, 1951 d. Gw 1, 1950




116.

117.

118.

119.

120.

Which is the biggest nationalized enterprise?
a. Bharat Sanchar Nigam Limited

b. Indian Post Department

c. Indian Railways

d. Oil and Natural Gas Commission
WUl QUISHISSHIMB HBeUTD 6157

a. U.eterv.erein.eted (BSNL)

b. @pF SiehFed siens

c. @b AyuievBeu FHiewm

d. erewiGewiut erfleuru] Mmieued

India’s first bio-fuel flight was operated between
a. Dehradun to Delhi b. Dehradun to Mumbeai

c. Dehradun to Kolkata d. Dehradun to Chennai

hgwmaler (peHev o ullfl-erMummeT alrerd @eiel(m HEHImISEHSSemL Gl
BusSsLIULL S

a. BLyn®er - G606l b. GLym®e - (LpibewnLI

C. CLgm@Beir - OBTELVHHHT d. GLyn@Ber - OFesienedt

In which of the following states, more number of people were affected by 2018
monsoon?

a. Kerala b. Assam c. Andhra Pradesh d. Megalaya
&P 2 66N 6IDMHEVSH60 2018 LHeU LOMPUIEITED ISHE oSBT
TSI 6iTenTabl 6ot ?

a. Gagenm  b. ojerdervmid c. aubHriyCsaid d. Gusmeowir

A preparation of living (or) killed micro-organism (or) viruses used in
prevention of diseases through immunization is called

a. Toxoid b. Vaccine c. Viremia d. Anti-toxin
o ufmeiten (&) 2 ulgmm miewieniuwl o ulflemiseT () weuFervdemen [BID © L 60al6l
CFIHSH BODHG 6IHITIY FohHMW 2 (HaUTdHEGHMSBE eleien GLWIT?

a. LmeFTUI® b. s®rLS c. alfldluwr d. egir-pFa
The source of energy in any eco system are

a. Osmotrophs b. Autotrophs

c. Lithotrophs d. Heterotrophs

Golbplemevuiiellel SLBMedleT (LPSHEBHIUI DLEHTTLD
a. oeBT WewILevd b, o GLT 106w 60D
C. @af LoewIL6uID d. GeuaiGaiml eI 6VID




121. The Acid Rain destroys the vegetation, because it contains
a. Nitrates b. Ozone
c. Carbon monoxide d. Sulphuric acid

SIN6L OMIPUITRIH DIMDHFH SHTAUTHMBUID DIOSHGHID SHETENIOUENL UIF| 6160160 IFH60
SILRIF o siTermenel

a. enpl Gy b. @Gzmer
C. &iuet Greimhama® d. seoliyfe sfevd

122. Which one is not part of the Panchayat Raj?

a. Smiti b. Village c. Township d. Zila Parishad
6bd QREIM LEhFTUId JTRRUISHH60 Bs0enev?
a. &g b. &ymoib c. pafwid d. sfeveor ufgTs

123.  Which part of the Indian Constitution deals with Fundamental Duties?

a. Part II b. Part III c. Part IV A d. PartV
bW SFFluweuamiolilied DIQLILIDL & HLDIDH6T 6lhd LIGHUNeD
T(BSHHIMTHBLILL (HeiTerngI?

a. ursb II b. ursw III c. utsb IVA d. urs V

124. Six men working 10 hours a day can do a piece of work in 24 days. In how many
days will 9 men working for 8 hours a day do the same work?

a. 10 days b. 15 days c. 20 days d. 25 days

6 o6l @b Gauemevenul HTOEMTEIBISE 10 wewfl CGhHyb Geuemev GEFUIZH 24
BTL&6M60 (WPQLILIT. 9 SewiHeil, BTOeMTaIBISE 8 wewl Grywb Geauemsn GFUISHTEL,
T1HSHMe BT H6i60 ieIGaImevenU (LPIQLILIT?

a. 10 [ el b. 15 ®Bm et

C. 20 BT &6 d. 25 mm el

125. A can finish a job in 20 days and B can complete it in 30 days. They work
together and finish the job. If Rs.600 is paid as wages, then the share of A and B
a. 240, 360 b. 300, 300 c. 360, 240 d. 400, 200
A aauaim @ Geauemevenul 20 BT HelaID, lo eleLalT $8% Galemevenus 30
BT &eMeuid (L. Smeurmd Baihgl Calemev CFUIH, DI6IGAIMELMUI (LPIY&HS
(h.600 2 HHIFB6T QIHATWTHLI GUBBEIT el A BmID B &1 umig eresten?

a. 240, 360 b. 300, 300 c. 360, 240 d. 400, 200

126. If the average of the values 18, 41, x, 36, 31, 24, 37, 35, 27, 36 is 31. Find the value
of x.
a.25 b. 24 c. 30 d. 26
18,41, x, 36, 31, 24, 37, 35, 27, 36 Seumnflest Fymafl 31 erefled X-661 I eT6bT60T?
a.25 b. 24 c. 30 d. 26




127.

128.

129.

130.

131.

Which one of the following is the correct composition of Brass?

a. Cu -50%; Sn - 50% b. Cu - 60%; Zn - 40%

c.Zn -70%; Sn - 30% d. Fe - 40%; Ni - 60%

SpHHMILabpled Ldhpemenuler giwmer o Georsdseveneuule FHaidHD 6l6ret?
a. Cu -50%; Sn - 50% b. Cu-60%; Zn -40%

c.Zn -70%; Sn - 30% d. Fe - 40%; Ni - 60%

What is phototropism?

a. movement of plants towards chemicals

b. movement of plants towards light

c. movement of plants towards soil

d. response of plants for day length

Gum’_GLrm _gmiferold eT6IBT6L 616316017

a. Ggyseler Geougl GuTmeT CrTHHW Buidbsld
b. Qayseiear @efl Ghrohdul Buibsid

c. Ggyseler wew CHTHHW BuissLD

d. QFyseier qaf STevdHs alenen

The institution of Lok-Ayukta was established first in the state of

a. Gujarat b. Maharashtra c. Rajasthan d. Kerala
BouTH-SLUBST (PH6IT (LPGHeVIeD 61hG LOTHIEVHH60 DIGHLDHBLILIL L GI?
a. GXYSH b. wamymadgrD C. JTE6rO&HTeHr d. Gayenr

Who said “The Directive Principle of State Policy is a Novel feature” of the
Indian constitution?

a. K.T. Shah b. B.R. Ambedkar

c. Aladi Krishnaswamy Ayyar d. B.N. Rao

BhaHw SFFuwicoamioliled “odE aupsT B ObpBi(penmsd CHTeTmd T 2 6iT6rTSHLOT6eT
LWL’ eTedIml Snpsluigyl wimiT?

a. KT. agr b. B.R. ouoBusbsit
C. LV B(HAFETFTIO  SUILIT d. B.N. gmeu
3 4

The value of 9;<+8is
2 2 4 6 g 2

3 9 81 243
9°x18* .

T -60T LDGIIL
a2 b. 4 c. 10 d. 32

3 9 81 243




132.

133.

134.

135.

136.

137.

138.

The cube root of 0.027 is

a.3 b. 0.003 c. 0.03 d. 0.3
(0.027) et @en eLpeuld

a.3 b. 0.003 c. 0.03 d.0.3
1 Femto is equal to m

a. 10-¢ b. 10-15 c. 1075 d. 10°
1 QuibBr (Femto) = WL

a. 10-¢ b. 1015 c. 1075 d. 10°

What is the value of gravitational field at the centre of the sphere?

b, Mr c. M

a. zero d. -GMm /+*

;
Gamenl Leitel ewwwSHHe0 LeludTiiy Leogddler gy wimg?

a. & b, Mr o M d. -Gm /¢’

r

Which of the following is sensitive to ultrasonic waves?

a. Man b. Bat c. Bird d. Fish
Bxmenm @ellenul 2 eUI(HLD HEIEWID WIT(HEEG 2 6iTendl?
a. el Hesr b. Geuereured C. Lmpenal d. e

Complete the series 1 ZA,3 YB, 6 XC, 10 WD, ?

a.14 VE b. 15 UE c.12 VE d.15 VE
1ZA,3YB, 6 XC,10 WD, ? aietiz  auflengenws Biylis
a.14 VE b. 15 UE c.12 VE d.15 VE

The product of two numbers is 1600 and their H.C.F. is 5, the L.C.M. of the
number is

a. 320 b. 1605 c. 1595 d. 8000

B etemidelen CUHBHL CFHTewsd 1600 LOBBID HiewaudHelet 5.CUT.e0 5 6lelled
eTeuiTberlent  LE.&1.1D. LG LD.

a. 320 b. 1605 c. 1595 d. 8000

Which congress conference was attended by Bharatiyar?

a. Surat Conference b. Madras Conference

c. Bombay conference d. Lucknow conference

6b® STHIBITErL LOTHTLIQED LITFSHWITT H60HGHI OBTeuILiT?

a. @GJH LIHTH b. GQgeiener OTHTH

C. uumul meIh d. evéGem wMHTH




139.

140.

141.

142.

143.

Who extended co-operation to Puli Tevar?
a. The French b. The English

c. The Portuguese d. The Dutch
He05CHeumBEG T CEThHHHeTH6T WITT?
a. UOyehasmyTHel b. ey BdGeowiTaHe
c. GuniFaadAwiTmel d. L&asayitser

Golden Handshake Scheme is associated with

a. Establishing joint enterprise

b. Inviting foreign companies

c. Private investment in public enterprises

d. Voluntary retirement

SRS MBSGHVSHGID HULID DHIL 1 GHTLTL DL UIF]
(B HBIUIRISM6NT 2 (HaUTehEHdH6e0

CouelBT B HBIISIHIGMET  DIENLDEFH60

SIIF HBIUTRIGHT60 SHENWITT (1p&HeV[H

all(plL uie]

an o

Which of the following scheme has the objective to skill 1 crore youth in the next
three years?

a. Start up, stand up

b. PM Kaushal Vikas Yojana

c. MNREGA

d. Deen Dayal Upadhyaay Grameen Kaushalya Yojana

Leiteu(pd 6Thd H LD DIBHD cpeinl peiBHeled @ Comg EewenehiTderier Hmest
Goum’ 19BaETe 2 (HeuTdHSLILIL L F)?

a. LML S, 6YLT6IL. Sl

b. l.erb. Qpeniged aflemerd Guimeges

C. 6ILD.6T6H. OLT.B).e9). 61

d. Segswrer o urdwmul Symier Gsemageouws Guimelet

Who converted Mahendra Varma I from Jainism to Saivism?

a. Sambandar b. Appar c.Sundarar d. Perundevar
(WPFHTD  1BHHATEUTIOMET M6 OHHH N (HHFH MFeU LDGHHHME LOTBSIWIeUT WImT?
a. FuUbHT b. @it ¢ &bHSEIT d. GumbBGHeui

Name the chieftain who patronized Kabilar

a. Ay b. Adhiyan c. Pari d. Anji
slileveny SupMsHal Curmpiw AbprsT Guwerd GBIULIGHS
a. ol b. @18)uwies c. um d. sieHd




144. In how many years will a sum of Rs.1,600 amount to Rs.1,852.20 at 5% per
annum compound interest?
a.3 b. 4 c.5 d.6
5.1,600 oueigl D% LB Fnl (B aully iFHID OBTEW(H 6THHME 6w (BDH6N60
.1,852.20 FHewLHGHLD
a.3 b. 4 c.5 d.6

145.  Simplity

F(HHGHD
[_lj_ 1+(%x§j+8_ s-1.1
3 3 7 2 4
a. 221 b. 52 c. sH d. 224
60 60 60 60

146. Which among the following industries generates invisible exports?
a. Fishing b. Tourism c. Jewellery d. Handicrafts
LesTeu(HeueTauBmIe Lol TS gmminglenul CaHmmmiallitig)

a. el G HmiHled b. amBmieor Hiews
C. gpugent GHmhled d. asalememIGLITHL Heit

147.  Which of the following agricultural commodity of India gives largest interms of
export value?

a. Tea b. Basmathi Rice c. Spices d. Cotton
LNeiteu(hd eTeUCaueTemTens © MLSHEH BbSHwnaler DIHSome gimiod gL
SHAHBSI?

a. Bzuiemev b. umerbing) ofd . pmioewt cplgser  d. LIHSHS

148. Name the place where the Rive Ganga and Yamuna joins?

a. Allahabad b. Hyderabad

c. Delhi d. Agra

SHINS DBID, WI(PHET SBID FHHHSGD B S OLIWIT 6l6sTenr?
a. SIVETLTS b. emamayTLITs

C. GL6vel d. eusym

149. Name the dam constructed across the River Sutlej

a. Hirakud dam b. Bakra Nangal Dam

c. Kosi dam d. Mettur dam

Flevgy oubmet @mIBGs s LUl (heTern Sienewtullesr GUIWIT eTedtenr?
a. aipIGL  Slenest b. USIT-HEIBGED Sieneut

c. Cxndl sememt d. Gl BT siememt




150.

151.

152.

153.

154.

155.

In which year Madras Mahajana Sabha was started?

a. 1881 b. 1882 c. 1883 d. 1884
obdH e OFeiener ST Fenll CHTBmIalbHIILILL &7
a. 1881 b. 1882 c. 1883 d. 1884

As per 2011 census the total urban population in the state of Tamil Nadu is

a. 27.48 million b. 34.95 million

c. 36.04 million d. 42.50 million

2011 10&&6i FHTmd HewiHBBUILIGT LIy SODBHTL 1960 BBTLB 0dHH6NT OHTend

a. 27.48 18l60edlulest b. 34.95 166060 wiest

c. 36.04 1feveSuiest d. 42.50 feveSlutest

Which district of Tamil Nadu produces the highest output of food grains?

a. Villupuram b. Cuddalore

c. Thanjavur d. Nagapattinam

SLODBTL 196D 6% LOTAUL L SHFH6L © 606y SHTWMIB6T DHBOMH 2 BUSHHWTSHBSI?
a. ellapliyyib b. &gt C. HEhHIFTOUT d. Tl igend

In which city the first Nepal - India “Think Tank Summit” was held?

a. New Delhi b. Kathmandu c. Dehradun d. Kolkata
ahBBIHFH0 (1pHev Crumen @psuwim “Think Tank wrpr6G” Hewt QUBBS?

a. Usiigeved b. &rgioewiH . GLymBeor d. OsmevsHHT

The campaign to create awareness among children to identify sexual abuse is
a. Safety is in your hands b. Our safety, our rights

c. Save child, save future d. Child safety in police hand

LUTedlen HISILMBISHSHNE0 DIeHL WIT6ND HTewl G LhendHBeilen Cui alllfiliL|ewiTe] emuL
GumesTeitemiiul L LyFgmyid

a. UTHISMIL] 2 6T 6m»HUTled

b. B0 utgIsTY BID 2 Mewio

C. GWHMSH LTHISTIL] THTHT60 LITHISMLIL]

d. GUhd UTHISTIL STEIOSHIMDB MEHUTN60

Match :
Tribe Region
A. Masai 1. Angola
B. Saami 2. Kenya
C. Kalinga 3. Philippines
D. Bush men 4. Siberia




156.

157.

158.

A B C D
a. 2 4 3 1
b. 2 1 3 4
C. 1 2 3 4
d. 4 3 2 1
QUT(HSHSHIS.
LIpBIGHIQ Uil eorT LyCxa1d
A. wamul 1. omiBsreom
B. gmf 2. Glsedum
C. ®60misT 3. UedlienLissren
D. ust wefgiTsel 4. engliflwm
A B C D
a. 2 4 3 1
b. 2 1 3 4
C. 1 2 3 4
d 4 3 2 1

The members of the Central Administrative Tribunal are given status of Judges
of High Court from an Amendment in the year

a. 2003 b. 2004 c. 2005 d. 2006

HHW STuTw 2 pIlemeeEhdE 2 WITHHIDEB bAHLIHHEHTE DibHHer0SH
QUPmISLILILL UL HmHHD CoBesmereniul L oyemih

a. 2003 b. 2004 c. 2005 d. 2006

What is the aim of Pradhan Mantri Gram Sadak Yojana?

a. Provide all weather road connectivity

b. Provide all weather to telecommunication connectivity

c. Provide food security in all seasons

d. Provide education to all people

“Urso wpHfl Sgmo gLrd Curmett” H L6 Cpressd (FHECsmeln) 61gi?
a. QIMIUHBGHID DIMODIHSH! LI(HeU HTEVURIBEHHESGHID FTMED QUFHBMET HIENLDSHHED
b. OzTemey OHTLMT| QIFHEHMm6T WGBS LI[HoU HTUBIBEHHGD GBLI DIeNIDSHHE0
C. HIMAGHFH LIHoY HTevmibelled © ewiey LTHISTIL CFui1ghed

d. e160BeuM(hBGHID Beva UFH GBUTH CFUIH6

Given the Pie Chart. Obtain the pass percentage of student who passed in 1st
class.




: i Passed in First Class
Passed in Second Class '

Passed ip Third Class
a.35% b. 30% c. 10% d. 25%
®bhg eefleu’ L alendall LLGHHeNHHSH LOTewaUTH6T (pFHeo UGl CaHiTFd
CUBBeUTHNBH ANIDSHBTH 61676017

Failed

W5® gl Csisd
@reamLmb aG9ed Gairédl : '

Gg;r'réfél ng)rrg,a_.lfméT ‘

aperpmd aign 9 Gaiied
a.35% b. 30% c.10% d. 25%

159. In higher plants the saprophytic phase is formed after growth and development
of the zygote. Point out the type of cell division involved in this growth.

a. Mitosis b. Meiosis c. Amitosis d. Zygotic meiosis

o Wit euemad SHreugmidbeienr er0CUTCITEMLIL 195 Blemev enFCHTL 196 6UeTTEFSF OTHBBSHSHTEV
© (HOUTHMHI. 6HFH auend OFev Llfley @ged CFweoLBGSBEH eaLmS &L 19HHT(H?
a. ewLoL_Lmenflerd b. Bwimenierd

C. gemLoL_ L Tererd d. aB8asmi 19é 1Owimendlerd

160. Kuhne's tube can demonstrate the process of

a. Fermentation b. Germination of seeds
c. Growth of plants d. Aerobic respiration
G GLOTUI 61h%H HIBHLDeMaU HlehHLNSEHID?

a. OBETHHHE0 b. aleds (wemend s He0

C. HTAUT GU6NTFS] d. smppienL w1 Feaurdldhseo

161. Which one of the following Parliamentary Committee is Semi-Judicial in nature?

a. Committee on Petitions b. Ethics Committee

c. Committee on Privileges d. Rules Committee

SPHBHEMIL  LITITEHLOIBS G(WRSH6Med 6bdh @h G UTdh Ba uflumeve
SHETEMLOU|6DL_UIZHI?




162.

163.

164.

165.

166.

167.

a. aflawieamiliLg &0 b. oimoEts G

c. Apliyflenod @& d. elglé G

The Constituent Assembly of India was set up according to the proposals of
a. The Cripps Mission b. The Cabinet Mission Plan

c. The Mountbatten Plan d. The Nehru Plan

BhHw SFFuieuenIolil] BHiTewiul Fewll WTHewL Wl (peaTaimplaler oglienL uled
IBUGSSUILL L SI?

a. difllierd 106960 b. GaLlen WeageT S LID

C. aew GuL L&t &L 1D d. Grm HiLib

The principal amount triples itself at 8% per annum over a certain time. Find the
number of years

a. 20 years b. 25 years c. 30 years d. 35 years

@ GEUII L gFeoraig 8% ally aihdhHed ebHHmen e HE6Ne0 LB

DL BISTGLD 6160 TN,

a.20 eupLMmIB6T b. 25 eu@pLmisell €. 30 eumLmiseT  d. 35 eUIBLHIB6NT

What number should be subtracted from each of the numbers
54,71, 75 and 99 so that the remainders may be proportional?

a. 1 b.2 c.3 d. 6

54, 71, 75 .oBmID 99 eletiB eel0lGUT(H 6l ILD 61HE 6T6wIeN6mIdh BLHHIHTEV
SIFH6 B FI0 alFHHH60 B(HBHESHLD?

a. 1 b. 2 c.3 d.6

What is the basic concept of Raman effect?

a. reflection b. incoherent scattering
c. coherent scattering d. refraction

groeT alenene] 6bhdH HSHHIUHMSH DlQLILInL WITHDH CloTeniLgi?
a. yguediiy b. g deveur geilFHsmed
C. 55 @oflFdHme0 d. ef alevsed

The Epsom salt which is used as laxative is

a. MgS0O4 . 7H0 b. CaSO; . 2H,0

C. ZI’ISO4 . 7Hzo d. CUSO4 . 5Hzo

D6ULD BeNbAHIITS LWL Sanlgul 6ILFID 2 L] 617

da. MgSO4 . 7H20 b. CaSO4 . 2H20

c. ZnSOy . 7H,O d. CuSO; . 5H,O

Where was the first Indian National Congress met?

a. Delhi b. Bombay c. Calcutta d. Madras
WHev @hHu CxrFluw sTHISITEIET gl LD 61HIE &nlguighl?




a. G606l b. uibumu’ C. BOBHBIT d. G eenet

168. The Forward Block Party was started by whom?

a. Subhash Chandra Bose b. Motilal Nehru

c. Rajaji d. Raja Ram Mohan Roy
CSuneum® e sl dl wnmgmed GgTLmisliul’ L gy ?

a. aumtey Fhay Gumernd b. Guordevred Gr(m

C. gregmey) d. gmegr gmb Gomasest Ul

169. According to 2018 - 19 budget report, India is at third rank in
a. Purchasing Power Parity (PPP)
b. Gross Domestic Product (GDP)
c. Agricultural Production
d. Foreign Direct Investment (FDI)
2018 — 19 plg Hlewev SPGemsll LI LleTeubld eleuBmIieT @bHWT eaTBTLOL &360

o 6iTeN g7
a. UTRIGLD FHWeT FLOBIeM6V b. Qrss 2 BTG o _BLHS
C. Gouonmewt ©_BLIGHS) d. opBuw Ghry 1HeSH
170.  Which currency is recently added in the currency basket of IMF?
a. Japanese Yen b. Chinese Yuan
c. Indian Rupee d. Brazalian Dollar
abBT_ (B mrewiwid FSusaHed IMF-a1 mrewiwis gmeniuled Cardbasiiu L gi?
a. sgliumesiesr  Gluiest b. engemaest ujeumest
C. @bl epuTUl d. Gyleduwiest LmeoiT
171. Find the G.C.D. of 2* -1 and 4*-1
a. a* -1 b. a+1 c. a®-1 d. a-1
a® -1, a* -1 et 15.0UT.6U. SHT60IS.
a. a’ -1 b. a+1 c. a’®—1 d. a-1

172. What percent is 5 grams of 1 Kg?

a.5% b. 1% c.0.5% d. 0.2%
1 HGoor Sgmoimeg 5 Hymb % eleinen?
a. 5% b. 1% c. 0.5% d. 0.2%

173.  Where was the first nuclear reactor of Asia established?
a. People’s Republic of China b. Japan

c. Taiwan d. India
O FU B HHD (LPHEVTOUH DGl 6060 61MIG Himleuli L g?
a. IDHSH6IT F6ld (GHIQUITS b. sgriLimest




174.

175.

176.

177.

178.

179.

C. MBHAITEIT d. ®@bHuwir

Who assumed the title “Chittrakara Puli”?

a. Rajaraja I b. Narashima I

c. Mahendra Varman I d. Nandhi Varman
“AaHraTamiinged” eeam el g QuuIT @@L LU L 1D6ST6IT  WimT?
a. (PSH6VMLD  [JITEQYTEI60T b. (ipmeomb HrdbLoest

C. (1pH60TD  0BHHATAUTLDOGH d. BhF ot

Area of a square is % hectare. The diagonal of the square is

a. 250 metres b. 100 metres c. 5042 metres d. 50 metres
QhH FHTHDHeT UTLILIeTE] %qa'sasfr, oTeNleL FHITHSHl6T cLpemevalll L 1D

LG LD.
a. 250 UL b. 100 BT c. 5042 B d.50 B

The surface areas of two spheres are in the ratio 9 : 25. Then their volumes are in
the ratio

a.27:75 b.27:125 c.81:625 d. 729 : 15625
Om Camenmiseer LBLLFLILGTYS6T 9 : 25 elaiB aldleHHHed 2 eiengl. DjeuBnlein
& o6 BHeiller alldHID

a.27:75 b.27:125 c.81:625 d. 729 : 15625
Black revolution is related to

a. Fish production b. Coal production

c. Crude oil production d. Mustard production
SHeoWl UILd Bl 61 OQHTLTLeHL W]

a. 18eT o _MuSHS b. Mevdafl o mLsHs

C. BFFT 6IWIGGIUI 2 _[BLIGHS d. 6@ 2 _BusHd)

Budget 2017 has proposed as the front office for issuing passport in far
flung areas.

a. Airport b. Telegraph office

c. Post office d. Railway station

2017 HFHpHlensv NSidbmaulesd OHTeM60 HMT LGHHaM60 SLFFL (B IPHIGMUBBGS
(PHDID  DIGVIIGVBIOTS DSOS BLILL L Gl 61517

a. elomer Bleneouid b. 38 SievaIeHID

C. HLIT6L [Hlen6OUILD d. yemwsalewig BHleneouid

The facility announced for Senior Citizens in Budget 2017 - 2018 is
a. Aadhaar enabled smart card  b. BHIM App




180.

181.

182.

183.

184.

185.

c. Shakti Kendras d. Pension Scheme

2017 — 2018 pFHBlenev DNSIHMBUIED (PHDH GYLLSHEHESTE WIS L 6UF D)
a. FHTHLST DMENIGEILL L aOTTL. SILewl b 1l.61F.23.61D. QOFu16l

C. 5o MIDULIBIBET d. @uieuduw FHLib

Who started Home Rule Movement in India?

a. Annie Besant b. Sathiya Moorthi
c. E.V. Ramasamy d. K. Kamaraj
AbhFHwmaled Sl d QuISSHmSH DTDOLNSHT wWimT?
a. oletell GlLgedt b. s cpiTHd)

c. m.all. QuiluimT d. . smoyrei

Tamil Books were printed firstly by whom?

a. Rev. Zieganbalg b. Rev. Schwartz

c. Rev. Grundler d. Robert De Nobili

(WPHT (PFHeVTH FHLOD LHSHIRIBmen DIFFLLeuT wmr?

a. FHTELGF QUIT b. seuniierd Limgfuwimit

C. GH(HEWIL 6L DU d. gmuim’ 19. GEmIed
Identify the mismatch.

a. White revolution - Milk

b. Green revolution - Food Grains

c. Blue revolution - Fish

d. Yellow revolution - Flowers

SHUBTeT OUT(HSHHMHD HewIBLIQHHALD.

a. Geuewienid gLl - LIT60

b. ugemw Ly - o auia)| Hrefluiid

C. b6V LJL & - 1065t

d. wehFeir Ly - 1L, &61T

National Agricultural Policy aims at a growth rate of % per year.
a. 3% b. 4% c. 6% d. 8%
BxpFlw Geuertmewst OBTETMHUITEIH DLewIHDHE) FHaIFH eUeNTFFemnul
Crrdsns OsTen(HeTengi.

a. 3% b. 4% c. 6% d. 8%
The crop which gets affected by pink ball worm is

a. Banana b. Wheat c. Mango d. Cotton
®enehFauli] Ub H Lapeumed UTSHSSILBLD LUl

a. auTenL b. Gsngiemnio C. Lo d. umsHS

World'’s first Block Chain Bond was launched by




186.

187.

188.

a. Reserve Bank of India b. World Bank

c. Hong Kong Bank d. State Bank of India

o edlar (pdev Block Chain usdrsens flwaliLGHEH WL aubid)
a. ®bHw MeFTel e b. 2 s eumid

C. QUBTRIGBIHI GBI d. @bFHur evBLL ek

Which of the following statements regarding soil are correct?
I.  Soil is a dynamic natural element.
II. Itis composed of both mineral and organic matter.
III.  The characteristics of soils depend on parent rock.
IV.  All the soils having a well developed soil profile
a. All are correct
b. I, II and III are correct
c. I, I and IV are correct

d. I, IIT and IV are correct
LeiTeu(hLD LD6WT GHBISHBT6 UTHS WMIS6MeD FifluiTereneudet eTeneu?

I. pewr OTRID HeEWID OBTEWIL. BUIBeNSH SHTT6w0i.

I[I. Bmoauser HTHGH6T OBBID 2 UT L GB6NTEL DLETEnE.

III. @mauseier uewiy 2 (Heutem LTedBulmer GUTBIHECH DiMLOD BB

IV. soaigHg  wew  aumdsehd e b GBIHE el  CambmHms
0B TETY (HBESLD.

a. SmaHHID FhGu

b. L II wpmpp I w Gio &

c. L II wmpid IV wl G M

d. L III sy IV w'@Go oM

Metro Rail Service is available in
I.  Chennai
II. Coimbatore

III.  Trichy

IV. Madurai

a.lonly b.landIV c.land II d. IT and IIT

QL Gym guled Bgemeu euggs o e6itern &L LD

I. Q5 ciraneut I1. GamuwibLg g 1. &m&d IV. wgieny
a.lw @b b. ITw @b IV c. I @ II d. IT wi_@w III

Find the difference between simple interest and compound interest for a sum of
Rs. 8,000 lent at 10% p.a. in 2 years.

a.Rs. 70 b. Rs. 80 c. Rs. 90 d. Rs. 100

. 8,000-6@ 10% e’y einsHded BIewih DeiiHE6eled Benl GG gl B 6Ll 19HEGLD,
S AU HGD 2 616 alGHHUTFSHMSHD BHT6uIb.




a.em. 70 b. ap. 80 c. em. 90 d. em. 100

189. The national fruit which is common for Phillipines, Pakistan and India is

a. Banana b. Fig c. Mango d. Jack
LNedlIemLietTerd, LITSlervg T oBmId @bhaHwl Brhdelen GuTgieuTer G dlul LD
a. eUTenLD b. ©158) C. DT d. ueor

190. Match the following :

A. Ranthambore 1. Assam
B. Manas 2. Jharkhand
C. Nagarjuna Sagar 3. Andhra
D. Palamala 4. Rajasthan
E. Indravathi 5. Chattisgarh
A B C D E
a. 4 1 3 2 5
b. 4 2 1 3 5
C. 1 4 3 5 2
d 3 1 4 2 5
QUIT(HSHHISH.
A. pegmibL,T 1. oMb
B. omermerd 2. SQMTEheuTL.
C. preieger Fmeit 3. SubAHIT
D. umeuibev 4. @ITegerdHT6s
E. @baymeug) 5. FHBHNVBIT
A B C D E
a. 4 1 3 2 5
b. 4 2 1 3 5
C. 1 4 3 5 2
d 3 1 4 2 5
191. The idea of concurrent list was borrowed from
a. British Constitution b. Canadian Constitution
c. Irish Constitution d. Australian Constitution

QUTHIL UL IQuIed 6TeMID &(HHGH OB L G
a. @nglevnhdler oiFdluwievemoliled(Hibal

b. ser_maler oyduieventori 16l mbal

C. HIWITEOMHFHET DITFWI60eMLOLILTe0(HHS

d. opedBredwimeler oyduieventori el (mbal

192.  In which year the Parliament enacted the Official Language Act?
a. 1955 b. 1965 c. 1963 d. 1957




193.

194.

195.

196.

197.

198.

6b® QUIHLLD LITITEBHLOIBHSH60 Digviaued Gompl FU LD Suimmrul L gl?
a. 1955 b. 1965 c. 1963 d. 1957

If a+b b+c ¢

Jl;a =k, then the value of k is

Cc a
a.0 b.1 c.2 d. a+b+c
‘”b:b”:C;”:k stafled k-eb1 gLy
Cc a
a.0 b.1 c.2 d. a+b+c

The ratio of boys to girls in a class is 4 : 5. If the number of boys is 20, then the
number of girls is
a.15 b. 20 c.25 d. 26

QUH QUGLILIED LOTETEUTH6N, TemialwTael aldlsHd 4 : 5 LomewieuTaeredn 6Tementdamd
20 ereofled LomewIRIUIIT6H  6TENTENN NS

a. 15 b. 20 c.25 d. 26
What happens in the reduction process?

a. loss of electrons b. gain of electrons

c. loss of hydrogen d. gain of oxygen

b05> alemenuied SlpdHHemiLauBmled 6T6e HlBSBEI?

a. 616V JTET&H6T GPUIL] b. et60&bL TesIeB6lT  6Ji3LY

C. maBL Je36sT @otiLy d. uéerfizent gy

Galena is the ore of which of the following metals?

a. Silver b. Lead c. Gold d. Iron
SH6UTT 6IILIG SLPHHMIL By 2 6iTenn 6bdh 2 Geuradhdler HTHIICUT(H6T?
a. Geueier b. &mfuib C. HHIBID d. &miby

Which Act provided Provincial Autonomy to India?

a. Rowlatt Act - 1919

b. Minto Morley Reform Act - 1909

c. The Government of India Act - 1935

d. Montagu - Chelmsford Reform Act - 1919

abd FLLLD @HHumelBG LTHew SWTL S DHSTTHMS GULDHISIULISI?
a. Oyemev” &L LIb - 1919

b. 0BT o6l SMHHSHS FLLID - 1909

C. @bHW SFFTRIS FLLID - 1935

d. wrewiGL @ OFberd.".Bunith FTHHSHHF FU LD - 1919

Whom of the following was the Chief Organiser of the Revolt of 1857 in Bihar?
a. Amar Singh  b. Kunwar Singh c.Pir Ali  d. Imaduddin




199.

200.

1857-b 6wy HevBSHHle CUTH HpdbsewiL. HUTHeMe0 LismT Lyl Flulest
QUHRIB T ILITENTTS  E(HHSHEUT WIMT?
a. oITdmI b. seeutt Hm c. 1T 60 d. BingHe ge

A man sells two wrist watches at Rs. 594 each. On one he gains 10% and on the
other he loses 10%. Find his gain or loss percent on the whole

a. Loss % =90% b. Gain % = 5%

c. Loss % =1% d. Loss % =7%

Bm MBHBYFHTIHIGET RIOUTETMBULD h. 594-5@ @HeuT alBmmT. Seleurms

alpmaled 10% Seorupd wBpHed 10% BLLIPD SeIHDHEG GBULLG. CTSHHHH 0
SI(HHG GBLULL SOTUD DLV Bl L FHAIHID HT6wISH.

a.plL ggaisd =90% b. @evtu FFeisd =5%
c.plL gzpaisd =1% d.plL gzeisd =7%
33 2 22 3
Simplity : M
(24) x3-4x4-2
a. 7x b. 7+ g d. 62
‘9 8 9 8
3)x(2?)’
F(HSGHD : —( )_2 x( )
(24) x3—4x4-2
a. 7x b. 72 c. 62 d. 62
9 8 9 8




